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1. What will follow if a Money Bill is
substantially amended by the Rajya
Sabha?

fa) The Lok Sabha may still
proceed with the Bill, accepting
or not accepting the recommen-
dations of the Rajya Sabha

fb) The Lok  Sabha cannot
consider the Bill further

fc) The Lok Sabha may send the
Bill to the Rajya Sabha for
reconsideration

{d] The President may call a joint
sitting for passing the Bill

2. Which one of the following
statements is correct?

fa) In India, the same person
cannot be appointed as
Governor for two or more
States at the same time

(b) The Judges of the High Court
of the States in India are
appointed by the Governor of
the State just as the Judges
of the Supreme Court are
appointed by the President

fe/ MNo procedure has heen laid
down in the Constitution of
India for the removal of a
Governor from his/her post

{d} In the case of a Union Territory
having a legislative setup, the
Chief Minister is appointed by
the Lt. Governor on the basis of
majority support

B-ERO-M-HTA/46A

3. Which one of the following pairs is
correctly matched?

Geographical Region
Feature

fa) Abyssinian

Plateau : Arabia
fb) Atlas
Mountains : North-Western
Africa
fe) Guiana 1
Highlands : South-Western
Africa
(d) Okavango
Basin : Patagonia

4, With reference to the history of
Indian rock-cut architecture,
consider the following statermnents :

1. The caves at Badami are the
oldest surviving rock-cut caves
in India.

2, The Barabar rock-cut caves
were originally made for
Ajivikas by Emperor
Chandragupta Maurya.

3. Al Ellora, caves werc made for
different faiths.

Which of the statements given
above is/are correct? 1

(a) 1 only
fb) 2 and 3 only
{c) '3 only

fd) 1, 2and 3
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1, #f2 7= 7w felt @ fadms 8 g
Hiea wdl B, @) aeg s dm?
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(b rw v Fdgs w am # fEn
T F wwA

(c) v w1 frdas w1 gAiEn F e
159 | 1 w2 g 8

(d) TETE fadmE W wfEm = F
| d@% ATEN W HHA
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fa) sEdnsEf=afE=oE e
al o it ol d gswe Fgw
Tt fEm s ww

(b) WHA ® TS ¥ I AR H
A T & T 70 s
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AEE S TEet g
g et st B

fcj WA ¥F dfaum § oeme B e
T ¥ wem g W A whEn
At 7 #

(d) TaurEl =mEww =@ @9 owdw §

qed) f Fyhs swrswe g,
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B-BRO-M-HTAf486A

3, fraffEm qoil § @ Fwow o T

gitfer &7
HITeTeh e o3
fa) ufafit gan soane

(b) TZEW TEa : Fee-faef
£t e

fc) TEW F=AMf  ; EfEw-afish
ST

(d) SirFEE EET o SEEnfE

4, T femeg F hem ¥ oaed 4§,

Frafafiae +u= w f=r St .

L. =gl # qw wwa & A
st o T )

2. A ft deEd TSN FEE 2N
A gm gew: wetEs F fem
aETs M8 o)

3. wem d, e fifim el F R
7% 7Ig o

9 oAl 4§ FE-w/d a8 3/87

(a) e 1

(b) ¥ad 2 3N 3

(¢} #FEE 3

(d 1,233

[P.T.O.

Downloaded From: http://upscportal.com



Downloaded From: http://upscportal.com

5. Recombinant DNA technology
(Genetic Engineering) allows genes
to be transferred
1. across different species of

plants
2, from animals to plants
3. from microorganisms to higher
organisms
Select the correct answer using the
codes given below.

fa) 1 only
fb) 2 and 3 only

feg 1 and 3 only
(d) 1,2 and 3

6. The Chinese traveller Yuan Chwang
(Hiuven Tsang) who visited India
recorded the pgeneral conditions
and culture of India at that time. In
this context, which of the following
statements is/are correct?

1. The roads and river-routes
were completely immune from
robbery.

2. As regards punishment for
offences, ordeals by fire, water
and poison were the
instruments for determining
the innocence or guilt of a

person,

‘ 3. The tradesmen had to pay
duties at ferries and barrier
stations.

Select the correct answer using the
codes given below.

fa) 1 only

fb) 2 and 3 only
fef 1 and 3 only
fd] 1, 2 and 3

B-BRO-M-HTA/46A

7. Consider the following :

1. Star tortoise

2. Monitor lizard

3. Pygmy hog

4. Spider monkey

Which of the above are naturally
found in India?

faj 1, 2 and 3 only

B 2 and 3 only

fe} 1 and 4 only

[d 1,2, 3 and 4

8. Which of the following can be found

as pollutants in the drinking water
in some parts of India?

1. Arsenic

2. Sorbitol

3. Fluaride

4. Formaldehyde
5.  Uranium

Select the correct answer using the
codes given below.
fa) 1 and 3 only

fh) 2, 4 and 5 only
fc) 1, 3 and 5 only
fd 1,2, 3, 4and5

9. With reference to Indian History,

the Members of the Constituent

Assembly from the Provinces were

fa) directly elected by the people of
those Provinces

ff) nominated by the Indian
Natiomal Congress and the
Muslim League

(c/] elected by the Provincial
Legislative Assembhblies

(d] selected by the Government
for their expertise in
constitutional matters
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10. Consider the following animals :
1. Sea cow
2. BSea horse
3. Sea lion
Which of the above isfare
mammal/mammals?
fa) 1 only
fb] 1 and 3 only
fc] 2 and 3 only

idl 1, 2 and 3

11. Consider the following statements :

1. An amendment to the
Constitution of India can be
initiated by an introduction of
a bill in the Lok Sabha only.

2. If such an amendment seeks to
make changes in the federal
character of the Constitution,
the amendment alsoc Teguires
to be ratified by the legislature
of all the States of India.

Which of the statements pgiven
above isfare correct?

faj 1 enly

(b} 2 only

fe/ Both 1 and 2

fd} MNeither 1 nor 2

12, Consider the following statements :
Attorney General of India can

1. take part in the proceedings of
the Lok Sabha

2. be a member of a committee of
the Lok Sabha

3. speak in the Lok Sabha
4. wvote in the Lok Sabha

E-BERO-M-HTA/46A

Which of the statements given
above is/are correct?

faj 1 only

(b) 2 and 4

fe} 1, 2 and 3
fd} 1 and 3 only

13. With reference to the usefulness of

the by-products of sugar industry,
which of the following statements
is/are correct?

1. Bagasse can be used as
biomass fucl for the generation
of energy.

2. Molasses can be used as one
of the feedstocks for the
production of synthetic
chemical fertilizers.

3. Molasses can be used for the
production of ethanol.

Select the correct answer using the
codes given below.

fe) 1 only

fb) 2 and 3 only
fe) 1 and 3 only
fd} 1, 2 and 3

14, Variations in the length of daytime

and nighttime from season to
season are due to

fa) the earth’s rotation on its axis

fh] the earth's revolution round
the sun in an elliptical manner

fe) latitudinal position of the place

fd] revolution of the earth on a
tilted axis
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10. Fr=fafEm s w fFew fif

1. #wgd Ty

2. WA i

3. wd fiw

I | B W e g/
fa) EHA 1

(b} FHaA 1 3 3

fc/ Fa@ 23R 3

{d} 1,2 1 3

11. Frfafias w9 w fa=m Fifam

1. WA # G99 4 GWET F59d |@
aw ¥ uw fatas & guemE g
# are R = v B

2. f? Tt v dfEae % we =i
o oftge= A A = 8, @ g
w1 FAREA WRA & w4 Tl %
famvEw g B oW W
AEEF B

I FUA H H BA-W/E =R/
(a) aEE 1

(b) aa 2

(c) 1 323

[d adi1sdmado

12. F=faiEa wuEt w = Fifso .

W F1 EEIET

1. = e o HEaE § a S
®

2. s uvn el ol = g @
e &

3. @i g9 | 919 g% 8

4. W% Ol § TEEE w5 e 8

BE-BRO-M-HTA/46A

IF w0 A § T/ T ¥ /E
fa) 4 1

(b) 2 3 4

fc) 1,233

(d) FEE 1 #HR3

13, w0 FAW & I i I F a=d
g, fafaias d & #=9-w/8 499 gd
B/E7
1. @i ®, Fai I # fa S o

3\ F w9 # wgw fen w1 9w 2

2. Wit ®, FHm TEREE ET@E F
I % fom v won-wtE o we
W w3

3. 9t #i, velE IwEA F fou g
fFm ST OEaT 2

A Ry m = W oWEN wWoEd Im
g

(a) FAH 1

(h) Hae 2 dH 3

(e) #A® 13w 3

(dj 1,233

14, Em-3em wgA 7 RA-ww e ofi-
g % fm § fafieen fem s &
wieft &1

fa) geEt F A W& W P

(b) gt w1, @ ® 9@ i dedge
fifa & gfmrm

fc) ¥ & sgig feafa
(d) * TEt 1 TA T\ T AR

7 [P.T.O.
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15. The Narmada river flows to the west,
while most other large peninsular
rivers flow to the east. Why?

1. It occupies a linear rift valley.

2. It flows between the Vindhyas
and the Satpuras.

3. The land slopes to the west
from Central India.

Select the correct answer using the
codes given below.

fa) 1 only

() 2 and 3

fo) 1 and 3

fd) None

16. On the planet earth, most of the
freshwater exists as ice caps
and glaciers. Out of the remaining
freshwater, the largest proportion

fa) is found in atmosphere as
maoisture and clouds

(b} i= found in freshwater lakes
and rivers

e} exists as groundwater

{d) exists as soil moisture

17. Consider the following pairs :

1. Nokrek Bio-
sphere Reserve : Garo Hills

2. Logtak (Loktak)
Lake : Barail Range
3. Namdapha
National Park : Dafla Hills

Which of the above pairs is/are
correctly matched?

fa) 1 only

(b} 2 and 3 only
fe) 1,2 and 3
(d) None

B-BRO-M-HTA/[46A

18. Consider the following :

1. Electromagnetic radiation
Geothermal energy
Gravitational force

Plate movements

Rotation of the earth

. Revolution of the earth

Which of the above are responsible
for bringing dynamic changes on
the surface of the earth?

(a) 1,2, 3 and 4 only

(b} 1,3, 5 and 6 only

fe 2,4, 5 and €& only

@ 1,2 3, 4,5 and 6

o m s eN

19, Which of the [ollowing bodies

does not/do not find mention in
the Constitution?

1. National Development Council
2. Planning Commission

3. Zonal Councils

Select the correct answer using the
codes given below.

{a) 1 and 2 only

(b} 2 only

fel 1 and 3 only

{dl 1,2 and 3

20. The demand for the Tebhaga Feasant

Movement in Bengal was for

fa) the reduction of the share of
the landlords from one-half of
the crop to one-third

fb) the grant of ownership of land
to peasants as they were the
actual cultivators of the land

fc/ the uprooting of Zamindari
system and the end of serfdom

{d} writing off all peasant debts
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B-BRO-M-HTA/46A

18, Fr=fafias = fem fifem .

e F|
iR

i Hee
et 1 i

. 9Et F TR
TEE A A R0 e F oy ow e
w7 % fom fmEm §7
fa) FAw 1, 2, 3 30 4
(b) #Fw 1, 3, 5316
e} #AA 2, 4, 5306
d) 1,2, 3,4, 536
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=

19. fefafan # & frm fem /B fedt =
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2. S I
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2 fer M F= w1 W@ W ogd W
et

o} a1 32

(b) Fad 2

() =@ 1| 33
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20. e F fnem fm st & oA

o7

() witErd 1 FeEd w5 woe % am
T § 0 FF U TR wE

(b} 4t w1 anaAfaE Afem 89 F T,
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Eal o

(d} T F A FON H TE FA

[P.T.O.
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21. The Parliament can make any law 24. Contour bunding is a method of soil
for whole or any part of India for conservation used in
implementing international treatics

fa) with the consent of all the . "
States fa) desert margins, liable to strong

wind action
fb) with the consent of the
majority of States
(b} low flat plains, close to stream

{c) with the consent of the States courses, liable to flooding

concerned

{d) without the consent of any
State (e} scrublands, liable to spread of
weed growth
22. In the pgrasslands, trees do not
replace the grasses as a part of an
ecological succession because of (d) None of the above

fa) insects and fungi

fb) limited sunlight and paucity of

| nutrients

25. The Government enacted the
Panchayat Extension to Scheduled
Areas (PFESA) Act in 1996. Which

‘ (d) None of the above one of the following iz not identified

as its objective?

b fc) water limits and fire

23. Which one of the following is the
| carrect sequence of ecosystems
| in the order of decreasing (@) To provide self-governance
productivity?

| fa) Oceans, lakes, grasslands,

{b) To recognize traditional rights
mangroves

{b) Mangroves, oceans, grasslands,

lakes fc) To create autonomous regions

in tribal areas
{c/ Mangroves, grasslands, lakes,

oceans
fd) Oceans, mangroves, lakes, (d) To free tribal people from
grasslands exploitation
B-BRO-M-HTA/46A 10
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21. H¥g, =gy aitEl ® ww & e wm 24, V-geu 1 gitEr au B W e et

v el we B Erp E T, @ F foru g 27
ot T = w2
(@) B U=l A wEmln | fa) W qE- R & ety =% I

(b) EEHEA TS| I HEH G H
(b i EE F Al w7, TerE i
(c) TEEREa T 6 wEnl ° are, fim wwae #Em

(d) o Fredi =g i A ©
. f¢) FTHW F FEH e F o A

o Ie% i

22. TREAEl § 3§ Thftuites g ¥ e
% w9 4 fra w0 wwl F) st = (d) 9w # & w3 T
w1 &7
(@) = wE F=H F FEW

(b) wifira g4 % wemwr ug uiws gl Al
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25. @R 1 WggEd &= F dEmEe faww
(c) o Hwal wE & s (PESA) sfufmm Fi 1996 # wfuirafim
& frefafaa & 4 #9-3 w38

(d) 37w # = T & w0 # iy T 87

fa) TEITEA T2TH FAT
23, TiEEt £t g=ft IuEEam F =0 4 I
frafafaa # @ F9-u1 agFn od &7
(h) aregiE sifE=rl & gFga 2
fa) =EWTR, 3, TEEEE, f0E

(b) i, wEETR, S, e fe) WY &l § wram &l & i
A
fe) Hmta, mroous, wftE, g

(d) wETETR, fUiE, wiE, T fd) ST T F AT H GE FO

B-BRO-M-HTA/46A 11 [ P.T. Q.
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26. Under the Scheduled Tribes and
Other Traditional Forest Dwellers
[Recognition of Forest Rights) Act,
2006, who shall be the authority to
initiate the process for determining
the nature and extent of individual
or community forest rights or both?

fa) State Forest Department
fb) District Collector/Deputy
Commissioner

fe} Tahsildar/Block Development
Officer /Mandal Revenue Officer
fd) Gram Sabha

27. Improper handling and storage of
cereal grains and oilsceds result in
the production of toxins known as
aflatoxins which are not generally

destroyed by normal cooking
process, Aflatoxing are produced by
fa) bacteria
(b} protozoa
fol moulds
{d) viruses
28. ‘Economic Justice’ as one of
the objectives of the Indian
Constitution has been provided in
| fa) the Preamble and the

Fundamental Rights

the Preamble and the Directive
Principles of State Policy

(b)

the Fundamental Rights and
the Directive Principles of State
Palicy

(el

{d) None of the above

B-BRO-M-HTA/46A

12

29. Due to improper/indiscriminate
disposal of old and used computers
or their parts, which of the following
are released into the environment
as e-waste?

1. Beryllium
Cadmium
Chromium
Heptachlor
Mercury
Lead

W s R )

Plutonium

Select the correclt answer using the
codes given below.

fal 1,3, 4, 6 and 7 only

(b} 1, 2,3, 5 and 6 only
fe 2, 4,5 and 7 only

{2 1,2,3, 4 5 6and7

30. Acid rain is caused by the pollution
of environment hy

{a) carbon dioxide and nitrogen

carbon monoxide and carbon
dioxide

(b)

{e] ozone and carbon dioxide

(d)

nitrous oxide and sulphur
dioxide
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26, WIEMET wa Ud 3 IRRIeh SAETE
(7= A= it awam) sfufEm, 2006
¥ afin, =frm @ amgEfE =
| wftrrrt e 3H1 6 vl ud Brean %
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(a) =g 77 fvam
(b) TN T I
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' (d) T A
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faftr g 72 49 29 sveeTER s
T IFniEA B 87
(@) SfET
(b) WldEis
fc) i
(d) fammy

28 A F ERUR F I A A THE F EO R
‘il =’ el Igee R om
27
fa) SRR 3R e Al

) st v vsg i A F e
T

fe) 7a Af=w 3 us=w # Aifa +
Ty 7=

(d) Fvdw & # Pt &

B-BRO-M-HTA/46A
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29, JA ¥R wgm wEd T g6 ¥

s sEmatEm s % =,
frefafaa & @ #9-8 §-amfie & = &
ygfam § Fefe €3 87

afiferm

Fafiyay

%ﬁ:‘*?‘!—“:"?!ﬁr‘

fr m w5 = wm W W IwW
|

fa) ¥A1,3, 4, 6307
(b} 1,2, 3,536
fc) Fa2, 4,537

(d 1,2 3,4, 5 6387

30. e Ao fFe gm ER A e wee

#F Fm g 27
fa) FTE7 EIERNEE 3T TEIES

(b) FTEA HEI-ATFEEE AN FEA =E-
INFES

(c) @R 3 FEA SRS

(d) Argzm wWiwaEE W HOWL
B HETEE

[P.T.O.
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31. With reference to food chains in 33. Consider the following organisms :
ecosystems, consider the following 1. Agaricus
statements ; 2 Nostoc
1. A food chain illuatrﬂ.tES '.h'E 3. Spjmmrra

order in which a chain of

: Which of the above is/are used
organisms feed wupon each

as biofertilizer/biofertilizers?

other,
2. Food chains are found within fa) 1 and 2
the populations of a species. (b} 2 only
3. A food chain illustrates the ) 2 and 3
numbers of each organism
which are eaten by others. fd] 3 only "
Which af the sisiements ghcn 34. Which of the following adds/add
above is/are correct? nitrogen to the soil?
fa) 1 enly 1. Excretion of urea by animals
2. Burning of coal by man
(b} 1 and 2 only 3. Death of vegetation
() 1,2 and 3 Select the correct answer using the
codes given below.,
{d] None
fa) 1 only
32. Consider the following pairs : (b) 2 and 3 only
National Park River flowing fe) 1 and 3 only
through the
1,2 and 3
Park @ o5
1. Corbett 35. In which of the following States is
National Park : Ganga lion-tailed macagque found in its
2. Kaziranga natural habitat?
National Park : Manas l. Tamil Nadu
3. Silent Valley 2. Kerala
National Park : Kaveri 3. Kamnataka
Which of the above pairs is/are 4. Andhra Pradesh
correctly matched? Select the correct answer using the
codes given below.
fz] 1 and 2
fa) 1, 2 and 3 only
i (b) 2 only
¢/ 1and 3 (g 1, 3 and 4 only
fd) None fd) 1,2, 3 and 4
B-BRO-M-HTA/46A 14
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31, witgsl # ww gmensi & wed #d,
Fr=ferfimn o m e ifi
1. TEE SEE 38w F Rl )
%, Rl ol &1 wF TEen -
*F HAER 5 it gt
2. WY gEdl T A # Gne
st ard e 2
3. WE FEe 3@ TEE o #l
wEa #, S gE % T s
8, el =it ¥

T Fudl § | wE-AE e R/ET
f@) =& 1

(b) *ad 1 2

fo) 1,233

(d) = T

32, freforfiga 7wt w fen Aifag
n@vm I H T
=FA ATEHT AR

1. a2 MU IEE ¢ T

2. HEOm A IR ;. WE

3. wnee S wmim o wEd
FH

IEF gEl § | FH-A/H 9 gt

287

f@ 13R2

(b) *ae 3

e 13w3

fd) % TE

B-BERO-M-HTA/46A

33, Trefafian et w faem fifsw

1. wifes

Lo

2. HAiei®
3. TR

ol # ® WN-E 8 99 TEE ¥ e A
v g 3/ §7

fa) 132

(b) Fad 2

fe) 233

(d) F993

34, frofafias § & F9-w/3, ga1 § ad=m

=l wg 8/ 87
1. et 50 i # I
2. WS EAI A ) A
3. 9T # gy

CIERRE A LR A Dl
il

fa) Fa4 1

(b) Fa= 2 3R 3

fc) AT 1 #E3

(d 1,233

35, Trefafas o= 4 & frmil /e fir-g=t

g (drn) sy weRfdE srEm # oaEn
o 87

1. dfiemrg

2. W&

3. wleH

4,  FY g

R fm oMo W owm WA I
T

fa) #a# 1, 2 ¥R 3

fb) dEd 2

fc/) Fada 1, 3 3R 4

(d) 1,2 334

| P.T.O.
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36. Some Buddhist rock-cut caves are
called Chaityas, while the others
are called Viharas, What is the
difference between the two?

fa} Vihara is a place of worship,
while Chaitya is the dwelling
place of the monks

fb) Chaitya is a place of worship,
while Vihara is the dwelling

place of the manks

fe] Chaitya is the stupa at the far
end of the cave, while Vihara is
the hall axial to it

(d) There is no material difference

between the two

37. Which one of the following describes
best the concept of Nirvana in
Buddhizsm?

]

The extinction of the flame of
desire

fb) The complete annihilation of
selfl

fcj A state of bliss and rest

fdl A mental stage beyond all
comprehension

38. According to the Constitution of
India, which of the following are
fundamental for the governance of
the cuunt:}r?

{al Fundamental Rights

fb) Fundamental Duties

fc) Directive Principles of State
Policy

fd) Fundamental Rights and

Fundamental Duties

B-BRO-M-HTA/46A

16

39. The people of India agitated apgainst
the arrival of Simon Commission

because

{a) Indians never wanted the
review of the working of the
Act of 1919

(b} Simon Commission recom-
mended the abolition of
Dyarchy |(Diarchy] in the
Provinces

e there was no Indian member
in the Simon Commission

(d) the Simon Commission
suggested the partition of the
country

40. Quit India Movement was launched
in response to

fa) Cabinet Mission Flan
(b} Cripps Proposals
fc) Simon Commission Report
fd] Wavell Plan
41. The balance of payments of a

country is a systematic record of

fa) all import and export
transactions of a country
during a given period of time,

normally a year

fb) goods exported [rom a country

during a year

fc) economic transaction between
the government of one
country to another

(d]

capital movements from one
country to another
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36. 7o fioga g TEE # S Fwd o,

st 3 # faEr) = § A a3

(a) THER qE-wue @1 R, sE 4w
g el = e 2

(b) A yA-wES T %, waAbE PEr
ate fregait =1 Farmawm 2

fc) HEE F g F B w wy F e,
v fen e o aaf s g B

(d) @il i e agaR s T R

37. fafafas & @ #F-@1 & 9@ A9 A

Fagtm =1 smEymon i FHAY ST FEE
27

(@) FoTES AH H T
(b) T i e stfemEdE
(c) wEHT uE T i e

(d) HTETETE A AaE

38. Wi % dfaum ¥ sgEn frafefaa 4 @

F-41, 29 % 7= F A snumg 27
fa) TE AR

(b) et FA

(e) T AT % R T

(d) e AU a9 qE wHA

B-BRO-M-HTA/46A

39, OEA =HTE & o F Fee wit® s9-

e # g

(a) wwdE, 1919 & wiutEm
At 1 e w4 = T 4

(b) wTgEE FHEA 4wl A franed 6
w4 degfa 1 of

(c) TTE FHEA § F1E off Wi e
G

(d) wEed w3 W F e o
EICRES

40. VA TE AEEE Fead vfafE § o

o mn?

(o) i fwm dsm
(b) T wEE

jc) TmEE FT= fd
() T ST

41. &l 3 W WA wgee e =atem

Afirera 87

(o) ToFE fuifa waa % &, wEEE:
s i W, TR 2w o e AW
afn Ffa a1 #9-3

) fEh o # uw g g Falq 6o
g

fe) TH Em o wER o g dm #
T & e anfde oH-24

(d) TF IWH FE W H A R GHA

[P.T. O.
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42. The Reserve Bank of India regulates
the commercial banks in matters of

1. liguidity of assets

2. branch expansion

3. merger of banks

4. winding-up of banks

Select the correct answer using the
codes given below.

fa) 1 and 4 only
fb) 2, 3 and 4 only

fc/ 1, 2 and 3 only
fd) 1,2, 3 and 4

43. An increase in the Bank Rate
generally indicates that the

fa) market rate of interest is likely
to fall

(b} Central Bank is no longer
making loans to commercial
banks

fe) Central Bank is following an
easy money policy

(d] Central Bank is following a
tight money policy

44. In India, deficit financing is used for
raising resources for

o) economic development
fb) redemption of public debt

fe/ adjusting the balance of
payments

fd) reducing the foreign debt

B-BRO-M-HTA/46A

18

456, Which of the following characterizes/

characterize the people of Indus

Civilization?

1. They possessed greal palaces
and temples.

2. They worshipped both male
and female deities,

3. They employed horse-drawn
chariots in warfare.

Select the correct statement/
statements using the codes given
below.

fa}] 1 and 2 only
fb) 2 only
fe) 1,2 and 3

fd) None of the statements given
abuove is correct

46. Which of the following diseases can

be transmitted from one person to
another through tattooing?

1. Chikungunya
2. Hepatitis B
3. HIV-AIDS

Select the correct answer using the
codes given below.

fa] 1 only
() 2 and 3 only
fci 1 and 3 only

fdl 1,2 and 3
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42, Prfefigg # 4 FW-9 AWel # VR

fred &= Frofee =51 w1 b s
27

1. afteweafemt Y we

2. ¥ fFEn

3, =i = oo

4, o1 =1 gETA

e fin o= w1 oWEM W OEE I
T |

fa) F=er 13N 4

(h) Faw 2, 3 ¥ 4

(c] Ha@ 1, 2 HT 3

(d 1,2 334

43, =% = # 3y T=E: W A@ & dea @

fr

(a) A ) FeR @ % e i wmE

?

(b) ¥ A% ara TfEE i
4 2 @

(c) H=EE &% wedt gm AifG = SAgE
ErRtil

(d) FEm &= wert ga fifa =1 egem
1 7 2

44, v § w2 F e s feed oo

el F1 agH & forg 3w 1 el §7
(o) widE R & fa

/b) wEEEE @ gEE & g

(o) YT T A e
(d) Tadh o w1 =0 & forg

B-BRO-M-HTA/46A

19

45, Fefafae & @ F9-w/F e Ry

wega & S o g e o i w
7
1. ok fammer wea oi w1 @ 9

2. & efadl sin wmersdl, a9 it qan
w4

3. % 7g § Og 3m die T i w
) & 9 |

dra B w2 w0 oM WA wEA/
FeAt w g

(a) %F&e 1 32

(b) et 2

(c) 1,233

(d) 3T FoEl £ @ i oft we R

a6. Crferfan dmfet # @ F-dt 3 R

¥ g s =t g = 8 geiE @
! 281

1. T
2. IFamE B

3. HIV-AIDS

= fm oM gz oW oWl W EE IE
Hfu)

) e 1

(b FE@A 2 W3

() wa® 1 ¥R 3

(d) 1, 23Mm3
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47. Which of the following statements 48. Photochemical smog is a resultant of
is/are applicable to Jain doctrine? the reaction among

1. The surest way of annihilating

Karma is to practice penance, fa) NO,, O and peroxyacetyl
nitrate in the presence of
2. Ewery object, even the smallest sunlight

particle has a soul.

3. Karma is the bane of the soul fh) CO, 0O, and peroxyacetyl
and must be ended. nitrate in the presence of
sunlight
Select the correct answer using the
codes given below, ¢) CO, CO, and NO, at low
temperature
fal 1 omnly id} high concentration of KO,

05 and CO in the evening

{b) 2 and 3 only

e i ol 50. Consider the following minerals :

1. Calcium
(d} 1,2 and 3 - T T

3. SBodium

48. Which one of the following terms g ; ;

describes not only the physical Which of the minerals given above
space occupied by an organism, is/are required by human body for
but also its functional role in the the contraction of muscles?
community of organisms?
fa) Ecotone fa) 1 only
(bj Ecological niche fb) 2 and 3 only 5
fe) Habitat fe) 1 and 3 only
(d] Home range fdj 1,2 and 3

B-BRO-M-HTA/48A 20
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47. Tawfeifaa & & #W-a1/8 9 3 fGEra 49, TEE-THENS gu # @ e e

% ey B/87 sifufapan = aftomw g &7
1w ® e wa = ghfim o
aaeEl 2 fa) NO,, O, @91 TiadfERs e
9, wAE e i, =18 7Y gEEA = A, ¥ o, g & v ) e §
: 7T T &
| 3. w4 wem = fEwE R sl sEwm k) €O, 0, a4 FWefERa e
T 3 WA AR * e, g F v i wufeafy A
4= fn M F W wEm W OEE I fc) CO, CO, @41 NO, % =, fim
S ELd I w
fa) ¥ 1 (d) NO, & 3=t ®izwl, O, a4 CO &
#=, W % g
(b) AW 2 3 3
fc) aw 133
50. Frafafian afist w feEr Sifa .
(d 1,233 1. hfceaw
| 2.
| 3. wifeEm
48, frafafia # 4 =R-w & 2, Fa A5
e fe T Repmm w1 @, gﬁm@ﬁﬁﬁﬁmwiﬁ&m‘i%
s ol & wgE & R FE dg & for /et snavesa
sifirer w1 off afq e BY Bl B/
(a) W () fa) * 1
(b) urftfEafes Fem (b) Ee 2 3 3
fc) SAETE fc) #aa 1303
fd) ATE-ET (d) 1,2 3R 3
B-BRO-M-HTA/46A 21 [E.T.O.
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51. Consider the following statements :

The Parliamentary Committee on
Public Accounts

1. consists of not more than
25 Members of the Lok Sabha

2. scrutinizes appropriation and
finance accounts of the
Government

3. examines the report of the
Comptroller and Auditor
General of India

Which of the statements given
above is/are correct?

fa) 1 only

fb) 2 and 3 only

fel 3 only

fd) 1,2 and 3

52. Consider the following Bhakti Saints :
1. Dadu Dayal
2., Guru Nanak
3. Tyagaraja
Who among the above was/were

preaching when the Lodi dynasty
fell and Babur took ower?

fa) 1 and 3
(b) 2 only

fe) 2 and 3
fd) 1 and 2

53. With reference to the food chains in
ecosystems, which of the following
kinds of organism is/are known as
decomposer organism/organisms?

1. Virus
2, Fungi
3. Bacterna

B-BRO-M-HTA/46A

22

Select the correct answer using the
codes given below,

fa) 1 only

(] 2 and 3 only
f¢l 1 and 3 only
fd} 1, 2 and 3

54, The most important fishing grounds

of the world are found in the
regions where

fo} warm and cold atmospheric
currents meet

(b} rivers drain out large amounts
of freshwater into the sea

fe) warm and cold oceanic
currents meet

fd) continental shelf is undulating

55. Which of the following is/are unigque

characteristic/characteristics of
equatcrial forests?

1. Presence of tall, closely set
trees with crowns forming a
continuous canopy

2. Coexistence of a large number
of species

3. Presence of numerous varieties
of epiphytes

Select the correct answer using the
codes given below.

{fa) 1 only
(b} 2 and 3 only

fcg 1 and 3 only
() 1,2 and 3
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51, Feferfiaa wudt = fEn #if = fm o 3z oW W@m = A T
i S A ded R T
1. ®r @ & sfusm 25 wed @ (a) & 1
a2 (b) F 2 33
2, AR ¥ fateEm an fF dwe f
i F 2 (c) Fa@ 13na
3. wma % frEw-mwemniss f d 1,233

fdré i wfa @l B
v wot & FR-E/3 wh EET
fa) #EE 1
{b) *am 2 3 3
fc) Fad 3
(d 1,23R3

52. fawferfian wiw @) v fa=n ik

1. =@ e
2. TEAEE
3. ®WEA
T A HH 3@ G9F 989 I 91/E 9

o FE I F gad g3 qun A aees
B!

faj 13m3
(b FEA 2
e} 233
(d) 1382

53. Wiga # @ quenell F R E,

frefafan 4 & &0 w=wn w/% @
IYIEF HG FEAE &/ FEA 67

IR ELL

2. FA%

3, sEm

]

B-BRO-M-HTA/46A

54, HEW & gy HewEqy] gead d8 34 Al
4 e W E, Wl

fa) FW T WM agEeEetd  wwnd
foeneht 2

(h) feat @mdl & wE wen A A W
e Ht 8

fc) e vy it WETE aw e
(d) wETdrdg feE w8

55. frefafaa § @ -, fagad =5
wfgedm o 2/ Frdrgard 27

1. 3=, W 35 f FeEw SEE
firftz Froan e ==ma &

. wga-w el # He-wfEe @
3, wftuedt A swem fEel H
[EEGIECIR

H= fir T owe W owEm = oAd IW
& (el

(@) Fa 1

(b) HEw 2 303
fc) aEe | E 3
(d 1,231 3

23 |P.T.O
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56. Which of the following constitute
Capital Account?

l. Foreign Loans

2. Foreign Direct Investment
3. Private Remittances

4. Portiolio Investment

Select the correct answer using the
codes given below.

faj 1,2 and 3
) 1, 2 and 4
) 2,3 and 4

(d) 1,3 and 4

57. Consider the following historical
places ;

1. Ajanta Caves
2. Lepakshi Temple

3. Sanchi Stupa

Which of the above places is/are
also known for mural paintings?

fa) 1 only
fb) 1 and 2 only
fo 1,2 and 3

{d] HNone

B-BERO-M-HTA/46A

58. With reference to the history of

philosophical thought in India,
consider the following statements
regarding Sankhya school :

1. BSankhya does mnot accept
the theory of rebirth or
transmigration of soul,

2. Sankhya holds that it is the
self-knowledge that leads to
liberation and not any exterior
influence or agent.

Which of the statements given
above is/are correct?

fa) 1 only
fb) 2 only
fej Both 1 and 2

fd)] Neither 1 nor 2

59. In the context of India, which of the

following principles is/are implied
institutionally in the parliamentary
government?

1. Members of the Cabinet are
Members of the Parliament.

2. Ministers hold the office till
they enjoy confidence in the
Parliament,

3. Cabinet is headed by the Head
of the State.

Select the correct answer using the
codes given below.

fa} 1 and 2 only
(b) 3 only

fcj 2 and 3 only
fdl 1, 2 and 3
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56, Tmfeiiaa 4 # #W- Jafma w6 =
w87
1. fa=efh =

wray feht FEm

ot Ui w=

TiEwif e

Bowow

= fim T g W WM W EE IW
Iul

fa) 1,233
. h 1,234
fc) 2, 334

d) 1,3 34

57. frefafs s e w e fifw
1. &= i e
2. wdEl g
3. Hid W

IR T # 8 F-w/d fufa R
% e ol e o 2/ s 89

fa) e 1
{b) a1 3K 2
fe) 1,233

(d) FE T

B-BRO-M-HTA/[46A

58. ¥rA # ziE® fem & 3w F a=ey

4, = wwEE § gEtum At

Eﬂ:ﬁ‘q{ﬁﬁﬂiﬁﬁ'ﬂl:

1. IS S 41 T & AETEA &
g =1 e 38 = §

2. Wi # wEa oI @t
Hie &) 3 & 5 & A e #E A
YqId YT HF |

IR FUAl B § FE-E/E v R/
(a) Fe 1

(b) A2

fe) 1023

(d) ad 12

59. WA % §=9 1§, GEdg WEA-wTEl &

Frafafias # o ww-m/4 fogrs wearma

=g 3 fifea 2/87

1. HARmvEE & TEE GEg & @ o
2

2. == % "EE # Twg F fagw um
A R 79 9% Bl A MO W a
& 21

3. T ¥ A=y @ dfmeew .
HEAH BT B

A fin o W owEm W FE 9w
EELd

fa) wEE 1 3 2
(b) %ad 3

fc) ae 2 3R 3
fd) 1,233

[P.T. 0.
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60. The annual range of temperature in
the interior of the continents is high
as compared to coastal areas. What
is/are the reason/reasons?

1, Thermal difference betwsen
land and water

2. Variation in altitude between
continents and oceans

3. Presence of strong winds in the
interior

4. Heavy raing in the interior as
compared to coasis

Select the correct answer using the
codes given below.

fa] 1 only
fb) 1 and 2 only
fe] 2 and 3 only
idl 1,2, 3 and 4
61. Which of the following is/are the

characteristic/characteristics af
Indian coal?

1. High ash content

2, Low sulphur content

3. Low ash fusion temperature

Select the correct answer using the
codes given below.

fa) 1 and 2 only
(b 2 only
fe/ 1 and 3 only

fdl 1,2 and 3

BE-BRO-M-HTA f46A

62. Which of the following statements

regarding laterite soils of India are
correct?

1. They are generally red in
colour,

2. They are rich in nitrogen and
potash.

3. They are well-developed in
Rajasthan and UP.

4. ‘Tapioca and cashew nuts grow
well on these soils.

Select the correct anawer using the
codes given below.

fl 1, 2 and 3
(b} 2,3 and 4
fc) 1 and 4

fd] 2 and 3 only

63. Consider the following statements :

1. Natural pgas occurs in the
Gondwana beds.

2. Mica oceurs in abundance in
Kodarma.

3. Dharwars are famous for
petroleumn,

Which of the statements given
above is/are correct?

faj 1 and 2
{bj 2 only
feJ 2 and 3

fd] None
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60. TEEN * W=l & gifds ang-gisr 62. Wrd %1 sengz WiEg & an § et

adr et # e afts B R # B TH-8 Fue g9 87
: T A Fw /R 1. A gmeR: = e o of wd )
| L. ot o 5@ % e @l s 2. A EEw o dem A wg i E
| 2. Wt 3 wevrrl % = g A 3, 31 e ai I wRw d o
e sk gam 2
sad] § 9 va 4 e 4. w fufgat 4 e s W A
adl € e st § g A =1 3w 2l B
ittt
F9 By W g W owEm W oEh I
i fer o W owEm W oA I B
gfu|
(@) 1,23M3
fa) e 1
M 2,334
| (b) w1 3w 2
| ) 13R4
L fc) Fa@ 23w 3
3t
[d) 1,2 334 i R b

61. P & & #v-a/d W 63. frferfian et w foram s

/% wfveam 8/87 1. wiFls g vigasn Gl § orf
1. 39 Wi 3 ardl 21
0 = W AW 2. WWF Wl WA H wEen d 9@
- Bl

2. DN S 3. T R e & Rre SR 8

i BREL U Tl A B e i

Ffm) 9 wEAl A € FA-E 8w R
(a) Fae 1 a2 (@ 1 32
(b) Fa 2 (b) ¥ 2
¢} FEa 1 33 e/ 233
(d) 1,233 (d) E 7
B-BRO-M-HTA/46A 27 [P.T.O.
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64, Consider the following crops : 67. Disguised unemployment generally
1. Cotton means
2. Groundnut
3. Rice {a) large number of people remain
unemployed
4. Wheaat

Which of these are Kharif crops? {b) alternative employment iz not

i LR available
an
(b} 2 and 3 only fe marginal productivity of labour
1 S $ is zero
(d) 2,3 and 4 (d) productivity of workers is low

65. “Climate is extreme, rainfall is scanty
and the people used to be nomadic

- 68. Consider the following statements !
herders.

1. The Council of Ministers in
the Centre shall be collectively
responsible to the Parliament.

The above statement best describes
which of the following regions?

fa) African Savannah

fb) Central Asian Steppe

2. The Union Ministers shall hold
the office during the pleasure

fe) North American Prairie of the President of India.
(d) Siberian Tundra 3. The Prime Minister shall
communicate to the President
66. Consider the following statements : about the proposals for
legislation.

1. Inflation benefits the debtors.
2. Inflation benefits the bond- : 7
el Which of the statements given
above is/are correct?
Which of the statements given

above is/are correct?

fa) 1 only
fa) 1 only
{b} 2 ﬂﬂl}’ fbjl 2and 3 t}nl}'
¢/ Both 1 and 2 (e 1 and 3 only
(d) Neither 1 nor 2 fd) 1,2 and 3
B-BRO-M-HTA/46A 28
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64. Ffaias woel w e Hifau . 67. T=ud AUl %1 gEEEe: o Fen B
1. =AM
2. e i Pl e A &
3. i+
4, TR
| Ay TR I9eey
i @ Pr-ah @i w8 o e
fa) 1 31 4
fc) w1 dm-a IemeEa I 2
| b) a2 3R 3
i, s (d) e & Jeaesan A 3
d) 2,334

65, ‘Feam wwm %, ol ww ¥ sfw @m
aFaTH! qyEnE g 41"

T #ye Frafafaa &= 4 4 feaw 68. Frefafi wudt m e Hifim .

Al AT A 87 ; :

1. =% i ufmfmg 5oy % i anfEs
(@) STHTH T w9 B IweEr gt
b) WA f¥r T 0. @dm wh vmm F ueal F wER-
fe) I quiE Yarlt T T8 U Hi |
(d) wEEfEE = 3. fufu-fmfm 2 wem & = d

waEEe, Tgafa #1 gl s

66. fmfafan Fet = foew fiftm
1. el v S e agE g
2. HEET ave-awehl w e g
.

g F=1 # & FA-w/4 a6 8/E7

V rﬂ.,l' %ﬁf’ll
Iy FEl # B R/ R ) R
b) F=d 2 3R 3
. fa) e 1 (v)
b) ¥ 2 () e 1303
fc) 1 ¥R 23
d a1 aad2 {d 1,233
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69. Consider the following statements : Which of the statements given

- . above is/are correct?
1. National Development Council

is an organ of the Planning
Commission. fa) 1 only

2. The Economic and Social

Planning is kept in the ) 2 only
Concurrent List in the
Constitution of India. fc) Both 1 and 2

3. The Constituton of India
prescribes  that Panchayats {d) Neither 1 nor 2
should be assigned the task
of preparation of plans for

economic development and
social justice. TL. With reference to National Legal

Services Authority, consider the
following statements

Which of the statements given

above is/are correct? 1. Its objective is to provide free
and competent legal services
to the weaker sections of the

(@) 1 only society on the basis of equal
opportunity.

(b} 2 and 3 only
2. It issues pguidelines for the

fe] 1 and 3 only State Legal Services Authorities
to implement the legal
fd] 1, 2 and 3 programmes and schemes

throughout the country.

70. Consider the following statements : Which of the statements given

above isfare correct?
1. The Chairman and the Deputy / :

Chairman of the Rajya Sabha
are not the members of that
House, fa) 1 only g

2. While the nominated members
of the two Houses of the fb] 2 only .
Parliament have no voting right
in the presidential election,
they have the right to vote in
the election of the Vice
President. {d) MNeither | nor 2

f¢ Both 1 and 2
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69. Frefaias syl w fFEr Sifa . I el § / wE-m/0 w6 2R
1. T fasm ofg, 9 sEm #=
TF AT #) fa) #=9 1
2. arfds v gmfes g # 9ra
F wfer #t wwadl gl d v @ (bj hdel 2
2
3. WG @ afays 98 f&fem w2 fc) 1 @ 2 sE

. TargE] w owidw faem ™
wofas =@ fit g T W

} ' st S v (d) adr1sfmad o

T e B AR T B

(a) FEE L
71. 7oy faftm @ whimm & g=d 4,
Frafafias i w = i .
1. ZOW 329 OO FEE0 F YT W
g & wHEn @il wl FoEs v
wew fafum dand owmy Fua1 2|

2. 7% T B fafw sEEe ol
@ 1,233 dist ® owm FE F Ry T
faftr &1 W @ fEw Wi

e B

(b) e 2 3 3

(c/ Fa@ 1 303

auder el B @ /8wl RRT
70. T=fafin soml w faam $ifm

fa) Fad 1
1. TSI WY F AN g IgEwni
: 36 959 & geeg A6 B 5
2. wafE Tedf & fatm @ @wg &
FHI HEAl % FAAE geE w waeE , "
w1 @8 afwr T @, = () 132 e
s & fafew #§ wEm o=@
srfirenme Bt R | (@ Ad1Aad2
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72. During a thunderstorm, the thunder 74. Consider the following liquid assets :

in the skies is produced by the
¢ : 1. Demand deposits with the
1. meeting of cumulonimbus banks

clouds in the sky

2. lightning that separates the 2. Time deposits with the banks

nimbus clouds 3. Savings deposits with the

3. wviolent upward movement of banks

air and water particles
4. Currency

Select the correct answer using the

codes given below, The correct sequence of these
assets in the decreasing order of
f@ 1 only liquidity is
fb) 2 and 3
fe) 1 and 3 R
{d} None of the above produces the fb] 4=3=2=1
thunder
fe}  2-3-1-4%
T73. Consider the following pairs :
Tribe State (d) 4-1-3-2
1. Limboo [Limbu) : Siklkim
2. Karbi : Himachal
Pradesh 75. In the context of Indian economy,

‘Open Market Operations' refers to
3. Dongaria Kondh : Odisha

4. Bonda : Tamil Nadu fa) borrowing by scheduled banks

from the RBEI
Which of the above pairs are
correctly matched? {b] lending by commercial banks
to industry and trade
fa) 1 and 3 only
fe)  purchase and sale of

government securities by the
REI

fb) 2 and 4 only
fe} 1,3 and 4 only

fdj 1,2, 3 and 4 (d) MNone of the abave
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72. afeq-s=n & fm, s § afge Read)

fefeh g eam wieht R/E7
1. s & wrd-a] o % fiee |
Afed &, =1 aulddEl & 7 w8

2.
3. g 3R wE W % e AR i
I H

= fem o o= W WM =G I
T

74. TrAfefiae we  ofewfra W fGEw

Fifem

1. A & g " s

2. = % 9§ wEE 7
3. HFI % UH A= SH
4, A

7 ittt 1, Tera % AN §U FA
A, HE AT 2

fa) ¥ 1
| ) 133 b 4-3-2-1
(d) o A A 1§ A afeq et w6
bt fc) 2-3-1-4
i (d) 4-1-3-2

i 73. Trafufias it m fE=m il

ECEun g

1. ferg : afe 75. wRdE seemETn ¥ o A, ‘gen I

2. . T wm waeE TR e e 27

3. Emfemww o sifEm

4, e : AfEEETg (a) FHFEE FH 0 RBI @ %0 o4

T ST 5 (b =rffers =i gm s@m sfi s

(a] & 1 ¥R 3 &l % A I

(b) ¥ 2 4 e/ RBI 3 wedl sfegfdt =1 #4

=i, fawy

fc) & 1, 3 3 4

d 1,2, 334 (d) Todw o @ i T
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76. Priority Scctor Lending by banks in 79. In the context of cultural history of

India constitutes the lending to India, a pose in danes and
dramatics called ‘Tribhanga' has
been a favourite of Indian artists
from ancient times till today, Which
one of the following statements best
{b) micro and small enterprises describes this pose?

fal agriculture

fa) One leg is bent and the body is
fcj weaker sections slightly but oppositely ecurved
at waist and neck

(d) All of the above (b} Facial expressions, hand
gestures and make-up are "
combined to symbaolize certain
T7. Which one among the following epic or historic characters
industries is the maximum "

{c! Movements of body, face and
hands are used to express
oneself or to tell a story

consumer of water in India?

fa) Engineerin
5 = fd} A little smile, slightly curved

waist and certain hand

{b) Paper and pulp gestures are emphasized to
express the feelings of love or
{ll'.'_l.l TFJ{'HIES eroticism

(@ Th | 80. Annie Besant was
ETmal pOower : .
1. responsible for starting the

Home Rule Movement

2. the founder of the Theo-
sophical Society

7B. To ohtain fuall benefits of

demographic dividend, what should
India do? 3. once the President of the

Indian Naticnal Congress

Select the correct statement/
statements using the codes given
below.

faj Promoting skill development
fb] Introducing maore social
security schemes fal 1 only "

fel 2 and 3 only
fc) Reducing infant mortality rate
fcg 1 and 3 only

fdj Privatization of higher education fdf 1,2 and 3
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76. v # = Fw wufms # wER | 79. WRA % HiEHfGF FEH & T 4, 99

areed el o e & R0 Treg-wen f w ogm R B s
A R, WHEHE FE W AW A WY
| @ =R werd @ RfE @ ) PeRife 3
¥ FH-A1 TF %Y T Y5 N GIOH w9
P (b) 9 (OTEEl) UE 81 W @ aftfq e &7
| (a) TE i3 Tgr s & s ¥ o
fe) gofe = frmg Pt o & &2 W@ e W
@ it et B
o i ) T i, T s
% HHETT AR vt et
1 WATHTe B 3 o wid & el
: 77, v & Frffan v 8 @ PE-A 0 G ) e ¢
urt =1 HEE T I9HIH 27 () %, 4@ wE wEE il G wowEm
w=a # Wi = 999 U S5
L EED w4 F e B s 2
. @ = @l 9 5% w5k w =he
) TG FegAI] v we R e B, 3w wd
ST, # s ) st e
fe) FTWEM ¥ R
jcl) AT wH o e
1. W ®d IF=ieA T 741 & fog
Iar off
78, FAIERFE MW F qof 9 F OUW A F 2, Tirariires dmgd & g o
e v =t @ = =nfRud 3. R dvme W o w oWw
arema of
(a) Tl fEFE w1 e B e ) S
: by ol s o g e e
' Eal e (a) A 1
" (b) HEE 2 3 3
Al
@ e (o) e 1 3R 3
() == fanen & Fafie [d 1,233
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Bl. The

llbert Bill controversy was

related to the

(e)

(b)

(c)

(d)

imposition of certain
restrictions to carry arms by
the Indians

imposition of restrictions on
newspapers and magazines
published in Indian languages

removal of disqualifications
imposed on the Indian
magistrates with regard to the
trial of the Europeans

removal of a duty on imported
cotton cloth

82. A rise in general level of prices may
be caused by

/2

an increase in the money
supply

a decrease in the aggregate
level of output

an increase in the effective
demand

Select the correct answer using the
codes given helow.

(@)

(b

()

(d)

1 only
1 and 2 only
2 and 3 only

1, 2and 3

B-BRO-M-HTA/46A
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B3. Which one of the following groups
of items is included in India's
foreign-exchange reserves?

{a} Foreign-currency assets,
Special Drawing Rights [SDRs)
and loans from foreign
countries

(b} Foreign-currency assets, gold
holdings of the RBI and SDR=

fel  Foreign-currency assets, loans
from the World Bank and SDRs

fd) Foreign-currency assets, gold
holdings of the RBI and loans
from the World Bank ?

84. Which one of the following is likely
to be the most inflationary in its
effect?

fa) Repayment of public debt

(b} Borrowing from the public to
finance a budget defirit

{c/ Borrowing from banks to
finance a budget deficit

{d} Creating new money to finance

a budget deficit

85. Supply of money remaining the
same when there is an increase
in demand for money, there will be

fa] a fall in the level of prices

bl an increase in the rate of
interest

{ef a decrease in the rate of
interest

{d] an increase in the level of
income and employment
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81. Toar fae faae el wafm @t

(@) Wt gAr el Aw 9T W g
wftreul = &y i s

(b) WHAE wme # wwfe @9 A
warEn-uEt 3 aFmed W sfee
= A st

(c) i F &l % AEe & gHaE e
¥ fou wndta =t w o
IR F R A=

(d) wrfem Wt HUS W A T e
Eof ol i

82. A Hma-ww o agal Fefafe 4 9

T /o o it & E) wt 2 /87
1. 7= #of o g

2. I & o e d firae
3. wweh ui § afg

i fir m Fz = WM W= FA oW
T

ja) FEH 1
(b) FEE 1 4R 2
() Faa 2 3n 3

d) 1,2 ¥R3
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83, wia 1 fash g omfim faiw

Pofefes & 4 #¥9-m w TNy

wivfem 87

fa) FRsf gm wfefs, few smem
HfiEEn (e HAe =Wo) wwan fm
¥ T

(b) TorRef qz wfmmf, s fod 3
AU 1 A= o R
HAfwr (wHo Fo 37R0)

c) TaRsht wm ofeemf, fow &% @
T A M owwm wftEw
(wHe Sie 3Re)

(d) faeft qe oftamafa, widta fad 3=
T wftm sl aan fe o |

84, TeTafas & & g o w1 3wy B

water ThfEEE B9 = woE 27
fa) T T A FHIA

b) Tz 2 F e & fow w=m |
EiLIHE

(c) =z " ¥ frftgn & fom &= &
O

(d) =2 9 % faea & fou =5 g =
T

85. T i O Fumy wA W ARk = A own

# gf gt 8,

(a) Hra-wn # freEe an woh
(b) == i = 8 e & anrh
(c) =T I @ F A S

(@) ¥ ¥m dwm F o d gfa #@
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B6. Fruits stored in a cold chamber
exhibit longer storage life because

fa) exposure to  sunlight is
prevented

fb) concentration of carhon
dioxide in the environment
is increased

fe) rate of respiration is decreased

f{d) there is an increase in
humidity

87. Consider the following fauna of
India :
1. Gharial
2. Leatherback turtle

3. Swamp deer

Which of the abowe isfare
endangered?

fa) 1 and 2 only

fb) 3 only

fej 1,2 and 3

fd] MNone

88. Ball bearings are used in bicycles,
cars, etc., because

fa) the actual area of contact
between the wheel and axle
is increased

(b} the effective area of contact
between the wheel and axle
is increased

fe} the effective area of contact
between the wheel and axle
is reduced

jd) None of the above statements
is correct

B-BRO-M-HTA/46A
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89. Consider the following phenomena :

1. Size of the sun at dusk
Colour of the sun at dawn
Moon being visible at dawn
Twinkle of stars in the sky
Polestar being visible in the sky
Which of the above are optical
illusions?

fal 1, 2 and 3

B} 3, 4 and 5

fe) 1, 2 and 4

{d 2,3 and5

S

90. Rainbow is produced when sunlight

falls on drops of rain. Which of the
following physical phenomena are
responsible for this?

1. Dispersion
2. Refraction
3. Internal reflection

Select the correct answer using the
codes given below,

fej 1 and 2 only
fb) 2 and 3 only
fef 1 and 3 only
fd] 1, 2 and 3

91. Many transplanted seedlings do not

grow because

{a) the new soil does not contain
favourable minerals

fb) most of the root hairs grip the
new soil too hard

fe) most of the root hairs are lost
during transplantation

fd) leaves get damaged during
transplantation
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86. It ®E #§ wwzifm = ofus T 9w

T4 &, F=ifE
(o) HE H U A T & o

(p) watamw § adq EElEEEE =
AT =g @ A R

fc) @& & T & S B
(d) A &g = #

g7, el widm wimm = fEm

i
1. #fea=
2. =fls $H (FRET o4)

3. ST

Toiw § A H-w/@ e
fa) F=e 1 30 2

fb) Fae 3

fe) 1,233

(d) T

ag, @nfFs 3 w=ul § S-S = owEm

g 2, witE

() dfen it gft % = dewl W
Arfas &9 ag W 2

B) e kg ¥ d= v W
uWTE] &9 =g =l #

() ufgm afn gt & dfi=w wowi =
T & T2 A R

(d) 9 weEt § @ F oft T A R
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89. Fr=fafaa aftazmed o faaw $ifaw .

Tyfea 5 54 =1 wEm
S H
FuTE 8 = & e
T ® Al = famfEaen
. AT # yEan @ e
I § & F-3 gy &7
(@ 1,23M3

) 3,435

c) 1,234

(4 2,335

xS B e

90. ¥ Uy a9f #i 45t W findt B, ot g

Twel | 6 fo Feferfia @ & 961
ifa=: uftgemi fagam 87

1. wiEEm

2, WA

3. i T

H fim o gz w1 owEm W oEd I
gfm|

(@) T 1 302

fb) AT 2 3 3

fc) FEE 133

dj 1,23MW3

91. = wfiifea fid gefem 48 == &, =ifF

(a) ¢ fudt ¥ ww whw v Ad e i
(b) i g i 7% P = oafuw
el § FHe od £

(c) whRAMw % frm Fitwm gw Tn T
o #

(d) wiwm % dwm ofaf afoe @
Elnil
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92. Economic growth in country X will
necessarily have to occur if

fa) there is technical progress in
the world economy

fb) there is population growth in X
fc) there is capital formation in X

fd) the volume of trade grows in
the world economy

93. Which of the following statements

is /are correct?

1. Viruses lack enzymes necessary
for the genecration of energy.

2. Viruses can be cultured in any
synthetic medium.

3. Viruses are transmitted from
one organism to another by
biclogical vectors only.

Select the correct answer using the
codes given below.

fa) 1 only

() 2 and 3 only
fc) 1 and 2 only
{d 1,2 and 3

94. Which of the following leaf
modifications  occursfoccur  in
desert areas to inhibit water loss?

1. Hard and waxy leaves
2. Tiny leaves or no leaves
3. Thorns instead of leaves

Select the correct answer using the
codes given below.

fa) 1 and 2 only

(&) 2 only
fe} 1 and 3 only
fd] 1,2 and 3

B-BRO-M-HTAf4B6A

The known forces of nature can
be divided into four classes, wiz.,
gravity, clectromagnetism, weak
nuclear force and strong nuclear
force. With reference to them, which
one of the following statements is
not correct?

fa) Gravity is the strongest of the
four

{h) Electromagnetism acts only
on particles with an electric
charge

fe} Weak nuclear force causes
radicactivity

fd) Strong nuclear force holds
protons and neutrons inside
the nucleus of an atom

96. The efforts to detect the existence

of Higgs boson particle have

become frequent news in the recent

past. What is/are the importance/
importances of discovering this
particle?

1. It will enable us to under-
stand as to why elementary
particles have mass.

2. It will enable us in the
near future to develop the
technology of transferring
matter from one point to
another without traversing the
physical space between them.

3., It will enable us to create
better fuels for nuclear fission.

Select the correct answer using the
codes given below.

fa) 1 only

fbj 2 and 3 only

fef 1 and 3 only

fd} 1, 2and 3
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92. x @m # awnfdw wafe wfmd = 4 @,

a2

ja) A ardemaen § st wifa g
®

(b) X & swdwEn giE a2

(e X% gefi-Frafor e &

jd) Teu avferewn & smm & owen
Tl @

o3, F=fefaa wuel d & sF-/@ wdt 287

1. Fmpd § swisem & fe
AT TEH T A |

2. T #1 fedt o d@fa mem
i dafifa fen =1 v 3

3. fawmadl &1 ve o § @@ W@ A
Har Fae adE gas @0 @
w21

fid By $2 W= W W ol W

g

fa) a1

(b) ewl 2 HE 3

() =@ 1 33

(d) 1,233

04, UHHE B 8 Wel g @ UsA & fen
fefafas § | FR-w/4 o s
o &/ &7
1. aR ud gift quf
2, o qui 3gEr quidEE
3. ool &1 9E i
fi9 fu W F W WM W D IW
g |
fa) Faw 1 3R 2
(b) Fae 2
fc) Fae 1 ¥R 3
(d) 1,233
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fa) TS, 9W H§ #EE W6 8
b) forgg-grame fak fgg s a@
0l o fran e B

fc) wdm Wk @@ Feenfera @
H B

(d) weer Tfiel T oo & e

it #fn =Eiat # wfa B wEm
.

96. Tz e § firm e =0 & wfem &

g % fow R MW owm emER

woEn # ® )5\ @0 R "e o

e BT

1. T¢ & ug wagA # "as wtm fE e
=it # wefa w4t et 8

2. ug fiwe wiis i o & fagall &
#| F dfes smow ® o A

o w fig 4 o fag 7% el
AT w9 6 fenfief fefia
A o gEE |

3. 48 = Wivenra fmaved % o dwem
$ua 3o T 8 vEs won |

= Re gz w1 W@ W OEA IW
g

(@) S 1

(b) FEA 233

(c) FEA 13W3

(d 1,233
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97. Mycorrhizal biotechnology has been 99. The nationsal income of a country for
used in rehabilitating degraded a given period i= equal to the
sites because mycorrhiza enables
the plants to

fal total value of goods and
1. resist drought and increase services produced by the
absorptive area nationals

2. tolerate extremes of pH
fb) sum of total consumption and

3. resist disease infestation : i
investment expenditure

Select the correct answer using the

codes given below. fc! sum of personal income of all
individuals

fa) 1 only

{d) money value of final poods and

b} 2 and 3 only services produced ’

fc 1 and 3 only
d) 1,2 and 3
(d) 100. Which of the following grants/grant

direct credit assistance to rural

98. Who among the following constitute hounchalds?

the National Development Council? 1. Regional Rural Banks

O R 2. National Bank for Agriculture

3. Toe Chairman, Finance and Rural Development

Commission
3. Land Development Banks

Ministers of the Union Cabinet

4. Chief Ministers of the States Select the correct answer using the
codes given below.

Select the correct answer using the
codes given below.

fa) 1 and 2 only
fa) 1, 2 and 3 only

(bl 2 only
| fb) 1, 3 and 4 only .

c)] 1 &and 3 onl
fe) 2 and 4 only fe) ¥

fdl 1,2, 3 and 4 fd) 1,2 and 3
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1. T & A F wE HEnm 89
aen £ "aa 3 sdl R

2. pH & sfadmE = g F== &
e #H1 ) B

3. I § i A oema S
?

da fer m w2 w1 WM o Iw
g (Ed

fe) H=er 1 3 3
fd) 1,233

98. F=fefiga ¥ ¢ ¥R i fem ofteg i

=41 Fd 87

1. WewEE

2. s, faw sl

3. it whmves % At
4. TwA & gEl

2 i m o= W oW W o W

k(= ud

(a) %aw 1, 23R 3
(b) ¥ 1, 3 3N 4
() F=a 2 w4

(d) 1,2, 334
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H1Y

fa) e g emfam awgedt ein
HEs % g qed & s g

(b} F& Fodm R FEw EE F A H
. gl

(o) Tt =fat i Aaferw 2w & am
o WL Bl

(d) Ienfen wi=m g s A= &
iif3e wea & s nfl

100. Tmitor ufawl & Frafafaa & @ =9 dbieh
TN G WA e g E
1. &ty gudte d

2. F IR anfin fem & fou wd
=

3. ofs Fwm =

d= fou o W owEm oW oEd I
g

(a) Faw 1 a2
(b) Faw 2
(c) *aw 1 33

d 1,233
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Note : English version of the instructions is printed on the front cover of this Booklet.

Downloaded From: http://upscportal.com



UPSCPORTAL PUBLICATIONS

Civil Services Exam (Preliminary)

T

Basic =
Mﬂﬂ(’rﬂf'}f R?:'g;soning

Analytical
Ability

ferar, Logical
Enelic : Reasoning
‘nb 1501 " Analytical
Gramin Ability

j and Usage

w Ty .':'-"_...
Geography rndla
=

Also Available at: http://www.flipkart.com

Buy Online at: http://upscportal.com/civilservices/order-books

Help Line No. 011- 45151781



http://upscportal.com/civilservices/order-books
http://www.flipkart.com

UPSCPORTAL PUBLICATIONS

Civil Services Exam (Mains)

ot
e mEe

General
Studies

Also available at: http:/ www.flipkart.com
Helpline No. 01145151781

Buy Online at: http://upscportal.com/civilservices/books



http://www.flipkart.com
http://upscportal.com/civilservices/books

L ] i

Also available at: http://www.flipkart.com
Helpline No. 01145151781

Buy Online at; http://upscportal.com/civilservices/books


http://www.flipkart.com
http://upscportal.com/civilservices/books

W@@WM’I@% MUH%LMBM IONS

Also available at: http:/www.flipkart.com
Helpline No. 011-45151781

[Bywy o
Buy O 5 D pscportal.co C es/bog



http://www.flipkart.com
http://upscportal.com/civilservices/books

| Other Important Books of Your Interest |

Probationary

..... {&luzr o

Also available at; http://www.flipkart.com
Helpline No. 011-45151781

Buy Online at: http://upscportal.com/civilservices/books


http://www.flipkart.com
http://upscportal.com/civilservices/books

UPSCPORTAL Study Kits for IAS, Civil Services &

Other Exams
Study Kit for Preliminary Examinations:

IAS (Pre) GS Paper 1

> Essay Writing
http://www.upscportal.com/civilservices/study-Kkit/essav-mains
> Enghsh Grammar & Comprehensmn

> Soclology

http://upscportal.com/civilservices/study-kit/ias-mains-sociologv
> General Studies

http://www.upscportal.com/civilservices/study-kit/gs-mains

Study Kit for UPSC Other Examinations:

> Indian Police Service Limited Competitive Examination

http://www.upscportal.com/civilservices/study-Kkit/ips-lce
» Armed Police Forces (CAPF)
http:, rtal.com/civilservi t -Kit/capf

Study Kit for Other Examinations:

> SSC Combined Graduate Level (Tier - I)
http://sscportal.in/community/study-Kkit/cgl
» SSC Combined Graduate Level Examination (Tier - II)

http://sscportal.in/communitv/study-Kkit/cgl-tier-2
» SSC Combined Higher Secondary Level (10+2) Examination
http://sscportal.in/community/study-Kkit/chsle



http://upscportal.com/civilservices/study-kit/ias-pre/csat-paper-1
http://upscportal.com/civilservices/study-kit/ias-pre/csat-paper-2
http://upscportal.com/civilservices/study-kit/ias-pre/general-studies-foundation-course
http://www.upscportal.com/civilservices/study-kit/contemporary-issues-ias-mains
http://www.upscportal.com/civilservices/study-kit/ias-mains-public-adminstration
http://www.upscportal.com/civilservices/study-kit/essay-mains
http://www.upscportal.com/civilservices/study-kit/ias-mains-english-compulsory
http://www.upscportal.com/civilservices/study-kit/ias-mains-history
http://upscportal.com/civilservices/study-kit/ias-mains-philosophy
http://upscportal.com/civilservices/study-kit/ias-mains-sociology
http://www.upscportal.com/civilservices/study-kit/gs-mains
http://www.upscportal.com/civilservices/study-kit/ips-lce
http://upscportal.com/civilservices/study-kit/capf
http://sscportal.in/community/study-kit/cgl
http://sscportal.in/community/study-kit/cgl-tier-2
http://sscportal.in/community/study-kit/chsle

